
The Buildings financial challenge is to address the one off defect maintenance gap of $1.9M. 
 

Asset modelling has established an annual capital renewal gap of $185,567 and annual maintenance target of $1.1M. 
 

To “hold/maintain” the overall building portfolio condition  the average capital renewal needs to be $1.3M annually. 
 

The actual maintenance budget averages at $410,000, excluding operational costs. 
 

The buildings had an operational cost of $1,708,000 in 2017/18. 
 

Asset Management needs to balance Levels of Service and  whole of life cycle costs. 
 

The community rated the ‘quality’ of Public toilets 3.6 and community buildings 2.2. 
The ‘technical condition’ of public toilets 3.0 and community buildings 3.3.  

Refer to the pie chart below (1 Excellent and 5 Very Poor) 
 

30% of buildings are in a poor condition. 
 

The community expectation of Public Toilets is higher than what  
current budgets can afford over the Long Term Financial Plan. 

 
Asset management systems are well established and integrated, 

however, work is required in the Work Order system to improve splits between maintenance and operational costings. 
 

Byron leads asset management with the latest technology and innovation. 
 

The average ‘useful life’ is lower than industry standard 
due to deferred renewals and reduced preventative maintenance. 

 
Spending on building upgrades reduces the ability to optimise on required capital renewals,  

this results in deferring on renewals and will result in higher future capital expenditure.  
 

There are 17 items identified in the Improvement Plan. 

The community rated the quality of public toilets 3.6 and community buildings 2.2  
The technical condition of public toilets 3.0 and community buildings 3.3 

(1 Excellent and 5 Very Poor) 

Three Scenarios were run through predictive modelling: 
 
 Scenario 1— “Deteriorate” current Long Term Financial Plan (LTFP) 
 Scenario 2— “Holding” Budget 
 Scenario 3— “Improvement” Budget 
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